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MATHS

BOOKS - KC SINHA MATHS (HINGLISH)

INDEFINITE INTEGRALS - FOR COMPETITION

Solved Examples

1. Evaluate /sin2 x cos® zdzx

° Watch Video Solution

2. Evaluate /:os5 (%) sinzdzx

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_zufXZSaPoDGl
https://dl.doubtnut.com/l/_itTFSOJiOtSR

dzx
3. Evaluate: —————
sin® x cos® z

o Watch Video Solution

\/tanar:
4, Evaluate: T ——"

inzx cos 33

o Watch Video Solution

5. Evaluate: /sin4 z cos’ zdx

o Watch Video Solution

dr
6. Evaluate -
sin x cos® x

° Watch Video Solution

7.Evaluate /sec6 xdz [Here power of sec x is even positive integer]


https://dl.doubtnut.com/l/_Hmhal6hMWKQZ
https://dl.doubtnut.com/l/_xPITiVHDWXnA
https://dl.doubtnut.com/l/_9EFFBVws8IK5
https://dl.doubtnut.com/l/_3ddDgxwogiTU
https://dl.doubtnut.com/l/_wJTX7d32FTF4

o Watch Video Solution

8. Evaluate /:ot‘r’ zdx

o Watch Video Solution

9. Evaluate: /:otm x cos ec*zdzx

o Watch Video Solution

10. Evaluate: /ca,n3 2x. sec 2xdx

o Watch Video Solution

11. Evaluate /can4 zdx

o Watch Video Solution



https://dl.doubtnut.com/l/_wJTX7d32FTF4
https://dl.doubtnut.com/l/_N6R1bYRde7IL
https://dl.doubtnut.com/l/_I2EHJlUb47TB
https://dl.doubtnut.com/l/_6XvGEVlMotf8
https://dl.doubtnut.com/l/_H1IC4VRBe1af
https://dl.doubtnut.com/l/_eBPZ2aV8afwY

12. Evaluate: / 1 + 2cot z(cot z + cos ecz)dz

° Watch Video Solution

13. Evaluate: /:an(ac + a)tan(2x — a)tan 3zdx

° Watch Video Solution

2
1
14. Evaluate: /%dm
(z+1)

o Watch Video Solution

1
2
15.Eva|uate/ L L P
zl/2 _ 1/3

° Watch Video Solution



https://dl.doubtnut.com/l/_eBPZ2aV8afwY
https://dl.doubtnut.com/l/_LERdR7g0xdug
https://dl.doubtnut.com/l/_CVYaGZTHrmA8
https://dl.doubtnut.com/l/_9nGB0O3gRmVX

16. Evaluate/ dz -
Vitz+(1+z)s

° Watch Video Solution

17. Evaluate: / - a dz
(1+z)3 1+z

o Watch Video Solution

log(l + %)
18. Evaluate: /—daz
z(1+ x)

° Watch Video Solution

2rsinx — cos
19. Evaluate: /I + dx
z(1 — cosx)

o Watch Video Solution



https://dl.doubtnut.com/l/_3jcjpFDukAxX
https://dl.doubtnut.com/l/_KuLmmJzvh8Ku
https://dl.doubtnut.com/l/_0Dhrny4xvWaJ
https://dl.doubtnut.com/l/_9bLpWOEb3ihE

3+ 2cosz
20. Evaluate: / + dx

(2 + 3cosz)?

° Watch Video Solution

sin® z

21. Evaluate/ dx
(1 + cos?z)y/1 + cos?z + cos*x

° Watch Video Solution

dzx

sin® 2 sin(z + )

22./\/

° Watch Video Solution

2 _1
23. Evaluate: / T dzx

23224 — 222 + 1

° Watch Video Solution



https://dl.doubtnut.com/l/_XHsvwYyE0MJ9
https://dl.doubtnut.com/l/_DE6BQ9fOidnP
https://dl.doubtnut.com/l/_oeHoUEJ3VkoU
https://dl.doubtnut.com/l/_ONCING028Muk

24, Evaluate: for

1
fngm + 22+ xm) (22°™ + 3z™ + 6) "dz, z > 0

m € N,

° Watch Video Solution

25. Evaluate: /(sin x)"" [cos z cot z — log(sin a:)smx] dz

° Watch Video Solution

dx
26. Evaluate:
cos T + cos ecx

° Watch Video Solution

1+ 1o 2
( g ) i

27. Evaluate: /

2
1+logz” ™ + (logmﬁ)

° Watch Video Solution



https://dl.doubtnut.com/l/_c60VeNwTEoRj
https://dl.doubtnut.com/l/_sf38IGGcpdUd
https://dl.doubtnut.com/l/_77bpZp1YDxRp
https://dl.doubtnut.com/l/_jdUXt6amBMx3
https://dl.doubtnut.com/l/_NoSN8HZSXHWb

rzcosa + 1

28. Evaluate: /
(2 + 2z cosa + 1)

3
2

o Watch Video Solution

sin®

29. Evaluate: / dz
(cos*z + 3cos?z + 1)tan ™ !(secz + cos )

o Watch Video Solution

_z
6

EYE

Z —

30. Evaluate: / - - dz
zi(z?+z+4+1)2 —z2 (22 +2+1)

1 1
2 3

° Watch Video Solution

cotx — y/tanx
31. Evaluate: \/ \/ dzx
1+ 3sin2zx

° Watch Video Solution



https://dl.doubtnut.com/l/_NoSN8HZSXHWb
https://dl.doubtnut.com/l/_50VmDcd4YIkE
https://dl.doubtnut.com/l/_90emSzjCvI1A
https://dl.doubtnut.com/l/_DjE7pZL84690

dzx

sin(z + a)cos3(z — B)

32. Evaluate: /

° Watch Video Solution

in2zx (1 — %cos a:)
33. Evaluate: /5 dx

esin2 T +cosdzx

° Watch Video Solution

34. If
/(sin30 + sin8)e*™? cos fdf = (Asin® 6 + Bcos® 6 + C'sinf + Dcos 6 + .

+F then find the values of ABCDE

o Watch Video Solution

cos z(1 + 4 cos 2z)
35.Evaluate: [— - x
sinz + 4sinz cos? x

° Watch Video Solution



https://dl.doubtnut.com/l/_c7nbFAANLfYN
https://dl.doubtnut.com/l/_8Kz9f677COkT
https://dl.doubtnut.com/l/_jLpRWtmttedg
https://dl.doubtnut.com/l/_uwCviTIgoMTx

1 n+5 $2 _1
36. Evaluate: /(x + —) ( 5 )dw
T T

° Watch Video Solution

5

z k

37.If /de = a,log( z ) + cthen a and k are
(V@) +a° 1+t

° Watch Video Solution

2 1
38. Evaluate: /m dx

:c(l + a:%)

° Watch Video Solution

dzx
39. Evaluate: 5
cosbz + sin’ z

° Watch Video Solution



https://dl.doubtnut.com/l/_Qf9KTsLZDhhS
https://dl.doubtnut.com/l/_grHmybvKwnu6
https://dl.doubtnut.com/l/_Myld8Z4rzf5h
https://dl.doubtnut.com/l/_2sPEZ8EfKrK6
https://dl.doubtnut.com/l/_uwM84aOLscDH

40. Evaluate: / de >
(5 + 4cosz)

° Watch Video Solution

cos 0

41. Evaluate:/ 5 do
(5 + 4cosf)

° Watch Video Solution

a-+becoszx
42. Evaluate: / + dx

(b+ acosz)’

o Watch Video Solution

do

.3(0)
sin”( 3
43, Evaluate:/

cos(g)\/cosz” 0 + cos? 6 -+ cos 0

o Watch Video Solution



https://dl.doubtnut.com/l/_uwM84aOLscDH
https://dl.doubtnut.com/l/_Vq0TZg3Ampt8
https://dl.doubtnut.com/l/_wRI3j4UdX5LM
https://dl.doubtnut.com/l/_TigFvSXUsEFP

-1
44, Evaluate: z dz
z\/(2? + ax + 1) (2% + Bz + 1)

° Watch Video Solution

— 2 dzx
45, Evaluate: .
1+ /11 24

o Watch Video Solution

dx

z—1)vat + 223 — 22 + 2z + 1
46. Evaluate:
z%(xz + 1)

o Watch Video Solution

tan(z — m)
47. Evaluate: / dx
cos? zy/tan® z + tan®z + tanx

o Watch Video Solution



https://dl.doubtnut.com/l/_8k7Uo4KDabYg
https://dl.doubtnut.com/l/_J18Us8G6a4Aq
https://dl.doubtnut.com/l/_08YJtc96Ncwv
https://dl.doubtnut.com/l/_Ub3IB6Qsq9r3

3

. il
48.The value of /\/ s1r1133 .sm v dx is equal to (A) sin ™! sin% x + C (B)
—sin’ z

2 . —1( . 3 2 —1( . 3
gsm (s1n2 x) + C(C) — gcos (smz x) + C (D) none of these

° Watch Video Solution

49, Evaluate: / dz
222 4+ 3z +5

° Watch Video Solution

2z + 3
50. Evaluate: [————  d=zx
Va4 +1

° Watch Video Solution

249 1
51. Evaluate: /Bac tert dx
2+ +1

° Watch Video Solution



https://dl.doubtnut.com/l/_VEB54xinu2wU
https://dl.doubtnut.com/l/_DksElZRCblDi
https://dl.doubtnut.com/l/_sMgsaQG1qB3F
https://dl.doubtnut.com/l/_lAAjN0plSCt5
https://dl.doubtnut.com/l/_3uiWw2Xw11hH

52. Evaluate: /\/ cosec’x — 2dz

° Watch Video Solution

4/ COS 2x
53. Evaluate: /,—dm
sinx

° Watch Video Solution

1 2
54. Evaluate: / te dzx

(% —m)\/1+x2 + x4

° Watch Video Solution

55. Evaluate: /atane(sece — sin6)do

° Watch Video Solution

2
(Inz — 1) .

56./ — dx is equal to
1+ (Inz)


https://dl.doubtnut.com/l/_3uiWw2Xw11hH
https://dl.doubtnut.com/l/_cyfzgSVCdf9l
https://dl.doubtnut.com/l/_qUa63cC9Ig2D
https://dl.doubtnut.com/l/_ntW3Ug6RxmjO
https://dl.doubtnut.com/l/_jcfdmRvsRaOM

° Watch Video Solution

2tanzx
57.Evaluate: /ew (m + cot? (:I: + %))dm

o Watch Video Solution

3 —x+2
58. Evaluate: /33”. ——dx

(22 +1)*

o Watch Video Solution

1 1
59. Evaluate: /<3w2 tan(;) — xsec’ (E>)dw

o Watch Video Solution

2
+n(n—1
z? +n(n—1) i

60. Evaluate:/ 5
(zsinxz + ncosx)

o Watch Video Solution



https://dl.doubtnut.com/l/_jcfdmRvsRaOM
https://dl.doubtnut.com/l/_ylc3qjBnAJ14
https://dl.doubtnut.com/l/_WWrPEMvmThcA
https://dl.doubtnut.com/l/_S0kQecv3YrD8
https://dl.doubtnut.com/l/_reKa21qCKKvO

61. If cos @ > sinf > 0, then evaluate:
1+ sin260 \“* 26 cos 260
/{10g<1—sin20> +10g<1+sin29>}d9

° Watch Video Solution

2(:13 sec? + tan:c)
62. Evaluate: /:z > dx
(ztanz + 1)

° Watch Video Solution

4 3 :
: r*Ccos*xr —xrsinx + cosx
63. Evaluate: [e*Sm®Tcosz dx
z2cos? x

° Watch Video Solution

4 3 .
. T*Ccos* T —xrsinx + cosx
64. Evaluate:/e(“m”“o”) . > dx
< COos” &

° Watch Video Solution



https://dl.doubtnut.com/l/_reKa21qCKKvO
https://dl.doubtnut.com/l/_jYP4oU7RsCAn
https://dl.doubtnut.com/l/_Py4ik3d5Md5x
https://dl.doubtnut.com/l/_AQvBUvF6V5QG
https://dl.doubtnut.com/l/_wxUm6hwSLrbz

x2 + 42
65. Evaluate: dzx

(zsinz + 7 cos :c)2

° Watch Video Solution

3 2qin2( 2
z —sinz)> 6x sm( )

VT r —sinz

66. Evaluate:

° Watch Video Solution

67. Evaluate: /ca,n_1 A/ Ve — ldx

° Watch Video Solution

2+6
68. Evaluate:/ T S dz
(zsinz + 3cos z)

° Watch Video Solution



https://dl.doubtnut.com/l/_6HqJEk9K5IXd
https://dl.doubtnut.com/l/_zm5BETcLf9QV
https://dl.doubtnut.com/l/_AiZH7yLVSMVP
https://dl.doubtnut.com/l/_3RJZJQejEU6K

og (1 +sin’z
69. Evaluate: /i e( ) dx
cos?2 x

° Watch Video Solution

70. Evaluate: /d—m
z(z + 1)

° Watch Video Solution

1
71. Evaluate: /de
z(

1+ zev)’

o Watch Video Solution

tan ! x
72.Evaluate: | ———dx
!

o Watch Video Solution



https://dl.doubtnut.com/l/_5RVB7Ryw1JOw
https://dl.doubtnut.com/l/_bAPSgNpdwy6T
https://dl.doubtnut.com/l/_XzDIUEqnPGlF
https://dl.doubtnut.com/l/_nTUW5kSj43ws

343z +2
73.Eva|uate:/ T o+ dzx

(22 + 1)*(z + 1)

° Watch Video Solution

74. Evaluate: /f(:v)

x3 —1

such that f(0) = f(1) = 3f(2) = — 3

dz, where f(x) is a polynomial of degree 2 in x

° Watch Video Solution

75. Evaluate /\3/ta,n zdzr

° Watch Video Solution

76 Evaluate-/ dz
' J(2z +3)V4z + 5

o Watch Video Solution



https://dl.doubtnut.com/l/_azur6jw41XSB
https://dl.doubtnut.com/l/_htGZjWaMwFhd
https://dl.doubtnut.com/l/_IEg96XD2fJcJ
https://dl.doubtnut.com/l/_ir2lSgNGLKN5
https://dl.doubtnut.com/l/_AJA3gqMgFqTM

dzx
77. Find/
(z +1)va?2 -1

° Watch Video Solution

d
78. Evaluate: / :v
(1+ 22)v1 — z?

o Watch Video Solution

—1
79. Evaluate:/ z dzx
(z+ vz + 22+ 2

° Watch Video Solution

dr
80.Evaluate: [—————
1 5
zz2(1+ z2)1

° Watch Video Solution

dx
81. Evaluate:/ 3 5
(z —b)’(z — a)



https://dl.doubtnut.com/l/_AJA3gqMgFqTM
https://dl.doubtnut.com/l/_41msg4SdoZiv
https://dl.doubtnut.com/l/_QUxm2HN4aW4a
https://dl.doubtnut.com/l/_aPoSn0q93TpM
https://dl.doubtnut.com/l/_mIEFNQT6Juqu

° Watch Video Solution

dr
(m + m)

82. Evaluate/ —,n# £1

o Watch Video Solution

dzx
83. Evaluate:
x+vVe2—x+1

° Watch Video Solution

84. [sin® z sin2zdz

o Watch Video Solution

85. Obtain the reduction formula for /:os" rdr

o Watch Video Solution



https://dl.doubtnut.com/l/_mIEFNQT6Juqu
https://dl.doubtnut.com/l/_icwQQY0mPDSR
https://dl.doubtnut.com/l/_lIrnkkLRvDTA
https://dl.doubtnut.com/l/_9rq2fxDuw17B
https://dl.doubtnut.com/l/_GHdetCdktnxA

86. /e‘” sin bxdz is:

o Watch Video Solution

(A)

. (z™ — 1)dz
87. Find the value of /
T

m+1\/]_ — 2zm 4 max2m

2 1 2 1
\/m+_+_m+c (B) \/ _—+—m+c (C)

° Watch Video Solution

d f(z) = 2f(x)
88.If —(f(xz)) = f'(x), then dx (A) x
(@) = £'(2). then [* T
lz|f(x) + ¢ (C) 2]0‘(7’) + ¢ (D) 2 ‘J;(‘ =) +c

2f(z) + c (B)

° Watch Video Solution



https://dl.doubtnut.com/l/_GHdetCdktnxA
https://dl.doubtnut.com/l/_F97zF9I7y9Bc
https://dl.doubtnut.com/l/_e5AwMeFJNepv
https://dl.doubtnut.com/l/_3lKNpjYHI3nr

2
BQ.ﬁlogx(logm —1)dz = (A %(logw —1)%dz = (B) (zlogz)’ + ¢

1
(Q) E(xlogx +1)°+c(D)2(xlogz —z)* + ¢

° Watch Video Solution

T — X
90. If I = / € dz. J = / € dx. Then for an
e4m+626+1 e—4x+e—2x_|_1

arbitrary constant c, the value of J — I equal to

o Watch Video Solution

91 Let f(z) = Ll for n > 2 and g(z) = fofo...of (z). Then
(1 4 mn)ﬁ ——

f occurs n times

1 _
ﬁ”_zg(m)dm equals (A) ——(1+nz")’ T LK (B)
n(n — 1)

I4ne)' P+ K © — (A+na)* T +K (D)

n—1 n(n + 1)
1 1-1

_ 1 n n K
n+1 (14 na”) *

° Watch Video Solution



https://dl.doubtnut.com/l/_QZ1MJBctX6Ed
https://dl.doubtnut.com/l/_y0N7IJWYaBm4
https://dl.doubtnut.com/l/_A9RCg9TQ8Wfy

92.The integral /ex(f(a:) + f’(z))dx can be solved by using integration

parts such that:
I—/f(mda:+/f(m T = ””f(a:) /f dm+/f
, and /e‘“”( ) = +C ,Now answer the

question:/e z%(2+logz) = (A) e“z®logz + C (B) €* + z* + C (Q)

e*z(logz)’ + C (D) €. ° 4+ C

o Watch Video Solution

93. The integral /9””(]‘(:/13) + f’(x))dz can be solved by using integration
parts such that:

I—/f d:v+/f:c /f dw+/f

, and /“"‘ (f(a:) + @)dm = e‘””f— + C Now answer the

a

1
question:/ log, (log, z) + — (dx is equal to (A)
(log, )
log,.(log, ) + C (B) zlog, (log, x) — log. = +C (C)
x
gz log, z + C (D) log, (log, ) — log. +C

o Watch Video Solution



https://dl.doubtnut.com/l/_ncRLNIWo6Gq0
https://dl.doubtnut.com/l/_Iidjpyi2ezik

94.The integral /aa’(f(a:) + f’(x))dz can be solved by using integration

parts such that:
I—/f dw—l—/fa:m /f d:c-i—/f
, and /‘w (f( ) + _x) +C Now answer the

2—x
question:/ ( ,/ +C( +:1:
(1—xz)v/1— 22 1—3:2
©e 2~ 4 o) fth
e s none of these

° Watch Video Solution

1. /sin2 x cos® zdx

° Watch Video Solution

2. /cos6 z sin® zdz

[ - 1


https://dl.doubtnut.com/l/_Iidjpyi2ezik
https://dl.doubtnut.com/l/_uMq0XxCAxSPn
https://dl.doubtnut.com/l/_RIkOU8SR0tkK
https://dl.doubtnut.com/l/_cpv9WusKQI7o

| @J Watch Video Solution

3 5
3. /sec4 T cosecixdx

o Watch Video Solution

4, /sin3 2z cos? 2zdx

o Watch Video Solution

dx
N SN
sin®* z cost z

o Watch Video Solution

dx
6. Evaluate: —
sin™" x cos 3

° Watch Video Solution



https://dl.doubtnut.com/l/_cpv9WusKQI7o
https://dl.doubtnut.com/l/_5rKHxYi93Ulg
https://dl.doubtnut.com/l/_PaRsYlIMGx4z
https://dl.doubtnut.com/l/_BZcgwdGrEj6C
https://dl.doubtnut.com/l/_CnsV1uHVAoV8
https://dl.doubtnut.com/l/_An0tZHSE0ZYF

7. /ta,n5 zdr

° Watch Video Solution

8. /sin4 zdzr

° Watch Video Solution

0. /sin8 rdzr

o Watch Video Solution

10. /<‘:0s6 x sin® zdz

o Watch Video Solution

3
cos’ x
11./ = dzx
sin™" x


https://dl.doubtnut.com/l/_An0tZHSE0ZYF
https://dl.doubtnut.com/l/_fOwRGLJzWRvO
https://dl.doubtnut.com/l/_g1ORNOK5EQmW
https://dl.doubtnut.com/l/_lZ528ZQNC6MD
https://dl.doubtnut.com/l/_pQ7ea6YT99l4

o Watch Video Solution

12. /\/tan T sec x cos ecxdr

o Watch Video Solution

13. /sin3 x cos’ zdzx

o Watch Video Solution

dzx
cos® z+/sin 2z

14.

o Watch Video Solution

15. /sec6 zdzx

o Watch Video Solution



https://dl.doubtnut.com/l/_pQ7ea6YT99l4
https://dl.doubtnut.com/l/_8ipdxmXGVg7V
https://dl.doubtnut.com/l/_YWnRQQKQokbX
https://dl.doubtnut.com/l/_Jr8WsWm6GFr7
https://dl.doubtnut.com/l/_KfHHZZyxdm6H

16. /sec‘*(%)tan(%)dm

o Watch Video Solution

17. ﬁ:an5 0 sec* 6do

o Watch Video Solution

18. /sec"xtanxda;, n#0

o Watch Video Solution

19. f:ot"a: cosectzdr,n # — 1

o Watch Video Solution

20. /cot4 xdzx


https://dl.doubtnut.com/l/_cOKLf2GrOXU0
https://dl.doubtnut.com/l/_vLWTTOR9msTi
https://dl.doubtnut.com/l/_4QbXyV2B8GJX
https://dl.doubtnut.com/l/_xG9OSLoR4g1U
https://dl.doubtnut.com/l/_7pZMoMnGWPWD

o Watch Video Solution

21. ﬁ:an5 zdzx

o Watch Video Solution

. 2
22./Sm—x2dx
(14 cosx)

o Watch Video Solution

23. ﬁ:anm z sect zdx

o Watch Video Solution

24./_ dz
asinz + bcosx

o Watch Video Solution



https://dl.doubtnut.com/l/_7pZMoMnGWPWD
https://dl.doubtnut.com/l/_tPvbGGj0IJjG
https://dl.doubtnut.com/l/_QJlBhSPpSpFi
https://dl.doubtnut.com/l/_x4LCEu4ynZpT
https://dl.doubtnut.com/l/_s7xPRDq8VQyb

25, /d_w
sinx + cosx

o Watch Video Solution

secT
26. /—dm
b+ atanz

° Watch Video Solution

27. /:an 2x tan bz tan 7Txdzx

° Watch Video Solution

28. / dz
secx + cosecx

o Watch Video Solution

dx
2. [———MMMM
sinx + tanx


https://dl.doubtnut.com/l/_HI9C0DwezEou
https://dl.doubtnut.com/l/_1DS857PbtyXK
https://dl.doubtnut.com/l/_QkfkTFlAiAR2
https://dl.doubtnut.com/l/_e1Jp5pxBrUQj
https://dl.doubtnut.com/l/_dpQ1nspivW4v

° Watch Video Solution

30. /d_w
sinz cos? z

° Watch Video Solution

31 / dx
") I3+ bcosz — 12sinz

° Watch Video Solution

32. /ca,n T tan 2z tan 3zdz

° Watch Video Solution

33. /ca,n(m — O)tan 2z tan(z + 0)dx

° Watch Video Solution



https://dl.doubtnut.com/l/_dpQ1nspivW4v
https://dl.doubtnut.com/l/_JUrhOlc353xd
https://dl.doubtnut.com/l/_UJywEGNl4z8e
https://dl.doubtnut.com/l/_vtefw3sJ7KOa
https://dl.doubtnut.com/l/_BHdWrOH4H5Zu

cos
34./—dm
v 1+ coszx

o Watch Video Solution

35. / da
cos x cos(z + a)

° Watch Video Solution

sin 2z
36. / - dr
sin(z — a)sin(z + «a)

o Watch Video Solution

3
COs° &
37. / 5 dx
sin“ x + sinx

° Watch Video Solution



https://dl.doubtnut.com/l/_oEeb0V6DQC7l
https://dl.doubtnut.com/l/_0J96LoHM8n5W
https://dl.doubtnut.com/l/_z2GrloTGDBsv
https://dl.doubtnut.com/l/_usca7TVfjikf

d
38./ =
sin“x + cosx

° Watch Video Solution

2 .2
390. /Zv—i_ﬂsec2 zdx
1+ 22

° Watch Video Solution

40. /cosx (1 — 3cos® x)da:
sin“ ¢

° Watch Video Solution

e5log:c _ e4loga:
41. dr
edlogz _ e2logac

° Watch Video Solution

Ccos 2 — cos 2«
42, dx
COS T — COS Q&


https://dl.doubtnut.com/l/_0n8aSNSabeGF
https://dl.doubtnut.com/l/_14gxTmD7m8Io
https://dl.doubtnut.com/l/_vqHfwzdct5hS
https://dl.doubtnut.com/l/_e7k8jzBi9AYU
https://dl.doubtnut.com/l/_yeTCl1uMPmBQ

° Watch Video Solution

3 .3
cos’ ¢ + 7sin’ x
43. /5 > dr
3sin® z cos?

° Watch Video Solution

x 2z
44, /udw

a4m

o Watch Video Solution

45, /sec2 x cos® 2xdzx

o Watch Video Solution

XL

cos 7x — cos 8z
46.

cos 2x — cos 3z

° Watch Video Solution



https://dl.doubtnut.com/l/_yeTCl1uMPmBQ
https://dl.doubtnut.com/l/_fTwVomD7PTJS
https://dl.doubtnut.com/l/_uuzcnAXmj8pH
https://dl.doubtnut.com/l/_CZYsYseX04lN
https://dl.doubtnut.com/l/_n5fb3p5NQk89

4
47./2”” +5 1
2 +1

o Watch Video Solution

6
48./3” 1
2 +1

o Watch Video Solution

4
49./ T de
1+ 22

o Watch Video Solution

4
0. [
(1+ 2?)

o Watch Video Solution



https://dl.doubtnut.com/l/_dD1Pl6EHQFF8
https://dl.doubtnut.com/l/_tKhF7dSpWRAH
https://dl.doubtnut.com/l/_IhBKNCiLaVvN
https://dl.doubtnut.com/l/_MJMlrW24tVYs

441
51. Evaluate: /ZI3 + dzx
2 4+ 1

o Watch Video Solution

1+=x 2
[l
x4z

o Watch Video Solution

dr
>3- / (22 1 @) (@ + )

° Watch Video Solution

54, /d_w
1+ secx

o Watch Video Solution



https://dl.doubtnut.com/l/_IvCa2ZN8Pz9L
https://dl.doubtnut.com/l/_NBF8e9NaeXsG
https://dl.doubtnut.com/l/_bPSK2tcSlfjg
https://dl.doubtnut.com/l/_b4zlVvwe19LH

55. Integrate the following:
/{5cos3m—|—2sin3x 1+ 2sinz 1—cos2x}

+ /1 + sin2x + +
2sin’z - cos? cos? 1+ cos 2z

° Watch Video Solution

dr
56.
/{(w —5)+ (z - D}/(z - 5)(z —7)

° Watch Video Solution

dzx

-3 .. 5
sin” £ + sin” x
57./

cos?2z + costzx

° Watch Video Solution

58/5w—2 d
. [——d=x
V3xr + 7

° Watch Video Solution



https://dl.doubtnut.com/l/_5pdDot9t6AbU
https://dl.doubtnut.com/l/_Tlfjjg1wIdXw
https://dl.doubtnut.com/l/_fRPRWCgTwwQ0
https://dl.doubtnut.com/l/_eA2S2Q4mBfEq
https://dl.doubtnut.com/l/_zoeRaW6RbIdx

59. /Lzzdx
(z +1)

o Watch Video Solution

60.

° Watch Video Solution

1
61./ + \/Edm

1+ J/z

o Watch Video Solution

62./ dz
ve+l—yz+1

° Watch Video Solution

dr
63. 1 1
/(1—|rav)5—(1+33)E


https://dl.doubtnut.com/l/_zoeRaW6RbIdx
https://dl.doubtnut.com/l/_poA1Q8zGpuEM
https://dl.doubtnut.com/l/_3D83RjdYGsrZ
https://dl.doubtnut.com/l/_uD1Damnu3kiG
https://dl.doubtnut.com/l/_PMUw5BstUIWj

° Watch Video Solution

° Watch Video Solution

65./ dz
1 1 2
x2 +x3 + x3

o Watch Video Solution

66. Evaluate: (i) /Sm\/E dz (ii) /(ﬂ d
N sin?(z e®)

x

o Watch Video Solution

67. fwdm

° Watch Video Solution



https://dl.doubtnut.com/l/_PMUw5BstUIWj
https://dl.doubtnut.com/l/_9dhTdejcGQ9Q
https://dl.doubtnut.com/l/_5qaNJicft7Wp
https://dl.doubtnut.com/l/_4AeaYT2FOBGB
https://dl.doubtnut.com/l/_GBwy82aTgCAk

1
6. /cos( ogx) "

T

° Watch Video Solution

cos v/ axr + bd
—  dx
vax + b

69.

° Watch Video Solution

Z

70 /'sin3(3 + 2logz) p

T

° Watch Video Solution

sin 2x
71. / dzx
a2 + b2sin’z

o Watch Video Solution



https://dl.doubtnut.com/l/_GBwy82aTgCAk
https://dl.doubtnut.com/l/_lqb41fWDN7c7
https://dl.doubtnut.com/l/_f8tRP43XJwOT
https://dl.doubtnut.com/l/_eZxQBYVHJSxg
https://dl.doubtnut.com/l/_1b8ygirOd4RT

12
72. /1 2:1: et %dx
T

o Watch Video Solution

73,/d_$
T+ x

° Watch Video Solution

74. /lew
(22 +2)}

o Watch Video Solution

75, /ta.n2 rsec’ T da
1+ tan® 2

° Watch Video Solution



https://dl.doubtnut.com/l/_W701PEpsxxos
https://dl.doubtnut.com/l/_ss1dSGxM6Ugw
https://dl.doubtnut.com/l/_yJkyj4atdtQm
https://dl.doubtnut.com/l/_2SukoE31lCqz

76. / da
z log z[log(log )]

o Watch Video Solution

e2x
77. | ———dx
/4\/693 +1

o Watch Video Solution

78. [zsin z%dz

o Watch Video Solution

dr
7. /—
PR /m2n _ a2n

o Watch Video Solution



https://dl.doubtnut.com/l/_KbWwq7HBOYjb
https://dl.doubtnut.com/l/_BvGf2IQ4PSsP
https://dl.doubtnut.com/l/_qVRDQLiW3hBT
https://dl.doubtnut.com/l/_VwxqWOPRAVQH

3
80. /w—zd:c
(1+z2)

° Watch Video Solution

81. ﬁg’(l — acz)%da:

° Watch Video Solution

82. /,/secm + 1dzx

o Watch Video Solution

sin 2z

83. I dx
sin*z + costzx

o Watch Video Solution

e—1 _ _zx—1
M./udx

me_ew


https://dl.doubtnut.com/l/_hUyFpksdOYHy
https://dl.doubtnut.com/l/_hBgDW0DKgWuu
https://dl.doubtnut.com/l/_lW3OEVBGHZGc
https://dl.doubtnut.com/l/_IRqPQmjZYf8Y
https://dl.doubtnut.com/l/_ySMrVwjetwSx

o Watch Video Solution

1+ cos @
85. [—————df
/0 + sin@

o Watch Video Solution

tanx
86. /—dw
secx + cosx

o Watch Video Solution

et~ ((— 1z
87. Evaluate: / (( ) )
14 22

dzx

o Watch Video Solution

dz
88 [——
e* +e "

° Watch Video Solution



https://dl.doubtnut.com/l/_ySMrVwjetwSx
https://dl.doubtnut.com/l/_N03OSazoUrh7
https://dl.doubtnut.com/l/_N514E99g7Bcu
https://dl.doubtnut.com/l/_zT6AjHx8iflt
https://dl.doubtnut.com/l/_A4SnmYgjZAgK

89. /secx log(secz + tanz)dx

o Watch Video Solution

2 -1 3
90. /mn_wdm
1+ 26

o Watch Video Solution

91. Evaluate:/ a dz
b+ ce®

o Watch Video Solution

e.’E
92./—d:c
e.’l? _|_ e—il:

o Watch Video Solution

T

+1)(z + logz)?
93./(“' )(@ ng)d

2z


https://dl.doubtnut.com/l/_2487EEakpN5p
https://dl.doubtnut.com/l/_FIN7oXQJ9o6t
https://dl.doubtnut.com/l/_FRRAoDC8IWRY
https://dl.doubtnut.com/l/_yJQfyEM3D3o4
https://dl.doubtnut.com/l/_0KXo5bkCFVx7

° Watch Video Solution

/ sin 2z
94, dx
(a + bcosz)

o Watch Video Solution

10z° + 10%(log), 10
95. Evaluate: / dx
10° + 210

o Watch Video Solution

25
96. /—d.’l?
V14 a?

° Watch Video Solution

o7. d
/ i@+ 1% -1y

o Watch Video Solution



https://dl.doubtnut.com/l/_0KXo5bkCFVx7
https://dl.doubtnut.com/l/_OH63BcJ3c3KG
https://dl.doubtnut.com/l/_xHcJ1ZiOLhCq
https://dl.doubtnut.com/l/_D8pfauik5trf
https://dl.doubtnut.com/l/_duxLWQYs6HcX

dx
98.

mwog(m VT )

o Watch Video Solution

23
99, /—dw
v1+ 28

° Watch Video Solution

100. /d—ws
(a? + z2)2

o Watch Video Solution

332
101. /—2
(@ +47)

° Watch Video Solution



https://dl.doubtnut.com/l/_duxLWQYs6HcX
https://dl.doubtnut.com/l/_0nXPF3gw46Fq
https://dl.doubtnut.com/l/_TJpEzTj3BDmY
https://dl.doubtnut.com/l/_dP0rpRgWx37W
https://dl.doubtnut.com/l/_yaTdLApdHa79
https://dl.doubtnut.com/l/_mHX4SwKdgoKh

102. d—x

x24/1 + 22

o Watch Video Solution

103. /de

° Watch Video Solution

Jz

104, [———dx
3

N

o Watch Video Solution

2 2
105. %13 T e
a? + x2

o Watch Video Solution



https://dl.doubtnut.com/l/_mHX4SwKdgoKh
https://dl.doubtnut.com/l/_50uXQvnylU9O
https://dl.doubtnut.com/l/_mXsa7y69R92T
https://dl.doubtnut.com/l/_Q3WAenmSCIDh

106. /d—x
o=

° Watch Video Solution

107. /d—m
z(1+ z2?)

° Watch Video Solution

234
108. dx
/1 + 4

o Watch Video Solution

i
109./ THL
XL

° Watch Video Solution



https://dl.doubtnut.com/l/_0mI2X8BpnRhZ
https://dl.doubtnut.com/l/_v9Xmdyha3bLb
https://dl.doubtnut.com/l/_M4NgHdBcg2aB
https://dl.doubtnut.com/l/_mNzDXNVh0EB8

110./ dz
(1+ 22)y/1 — 22

o Watch Video Solution

]__
111./31/ L dz
1+x

o Watch Video Solution

72
12. /—dw
V1 —2?

° Watch Video Solution

1M3. [——=dz
V1+ x?

° Watch Video Solution



https://dl.doubtnut.com/l/_YPXCQdh9qONm
https://dl.doubtnut.com/l/_ahWoXMqJmysx
https://dl.doubtnut.com/l/_fJbG2M8Xc9jL
https://dl.doubtnut.com/l/_hf3MIe0szTir

z2 +1
114./—da:
Va2 44

o Watch Video Solution

115./(32 + 2)y/z? — 1dz

o Watch Video Solution

T+ 2
r — 2

dzx

116./(33 +1)

o Watch Video Solution

1
117./(x—2) 1jida:

o Watch Video Solution



https://dl.doubtnut.com/l/_BjhR9rvU9LKl
https://dl.doubtnut.com/l/_VXxtKyO8VL6m
https://dl.doubtnut.com/l/_mPlGzB9HDgI3
https://dl.doubtnut.com/l/_xtl8fgqJQFCG

e —1

T
118./ e

o Watch Video Solution

119. / sz dz
sin® z + 3sinz + 4

o Watch Video Solution

dzx

120./
ac[(log:c)2 + 4logz — 1]

o Watch Video Solution

121.// T dx
1+

o Watch Video Solution



https://dl.doubtnut.com/l/_MHP1kDHNPIe3
https://dl.doubtnut.com/l/_ECWV5oPWZYHI
https://dl.doubtnut.com/l/_pkStXgM4J9wv
https://dl.doubtnut.com/l/_rVdr42jlVRsS

122./ atz,.
r — a

o Watch Video Solution

123,/d—m
T+ —1

° Watch Video Solution

124./ T
b—=x

o Watch Video Solution

dzx
xy/1+ xn

125.

o Watch Video Solution



https://dl.doubtnut.com/l/_fWjfvDuu3CW0
https://dl.doubtnut.com/l/_4niEP8dyibjt
https://dl.doubtnut.com/l/_5W3EOdysKlgJ
https://dl.doubtnut.com/l/_GKVXreWzHSI3

[ 14 22

° Watch Video Solution

° Watch Video Solution

128. /d—w
COS T4/ COS 2x

o Watch Video Solution

z —1 1
129./ . dx
r+1 a3 4otz

o Watch Video Solution



https://dl.doubtnut.com/l/_wqb6c53hzZX4
https://dl.doubtnut.com/l/_9hYEzJ2bWQdI
https://dl.doubtnut.com/l/_oXhWum5Jk84B
https://dl.doubtnut.com/l/_2I7vuPxYtgGT

z?2 —1

130. Evaluate: /

(% + 322 + 1)tan_1(£c + %)

dzx

o Watch Video Solution

131./ dz
(1+ vZ)vz —a?

° Watch Video Solution

2t 3
132./ - anzrte e
sin“x + 2cos? x

o Watch Video Solution

dzx
133, [—m——
sinx + secx

o Watch Video Solution



https://dl.doubtnut.com/l/_mHKEaAZlkF33
https://dl.doubtnut.com/l/_es4NFwginfXn
https://dl.doubtnut.com/l/_YTrI2Wwp1pfg
https://dl.doubtnut.com/l/_7YVpAs871GFy

134./;@
Vel +x+1

o Watch Video Solution

X
135. | —————dzx
/:Jc4 +z2+1

o Watch Video Solution

2¢ + 3
136, [——dzx
V14 x + 2

° Watch Video Solution

137. /\/751: — 10 — z%dzx

° Watch Video Solution

sinz + sin 2z
138. dx
V/cos z + cos 2z



https://dl.doubtnut.com/l/_7ZnwDTK9w99Z
https://dl.doubtnut.com/l/_QJ9OK2s2Zu5m
https://dl.doubtnut.com/l/_GgSA2SERjCq0
https://dl.doubtnut.com/l/_vse2pKd8MpVV
https://dl.doubtnut.com/l/_z9kVb0oPdf3e

° Watch Video Solution

139. / S dz

sin?z + cosx + 2cos? x

o Watch Video Solution

140. /d_w
1+ cos?z

o Watch Video Solution

dr
141 [—
/4 + Scosx

° Watch Video Solution

142, / dz
Cos o + cos T

° Watch Video Solution



https://dl.doubtnut.com/l/_z9kVb0oPdf3e
https://dl.doubtnut.com/l/_YbtXp0KVzE86
https://dl.doubtnut.com/l/_xZ5TtHbT0HuD
https://dl.doubtnut.com/l/_XUlzLiD7MTmx
https://dl.doubtnut.com/l/_eelBdVjpIPTB

143./d—x
1+ tanx

o Watch Video Solution

144. /sin.a: + 2cosx da
2sinx + cos

o Watch Video Solution

145, /d—w
3+ 4sinz

o Watch Video Solution

146 dz
" | 3sinx — 4cosz + 5

° Watch Video Solution

dx
147.
7 /4ta.na: + 4cot x


https://dl.doubtnut.com/l/_UKVl971PgSEM
https://dl.doubtnut.com/l/_hk0it593WE47
https://dl.doubtnut.com/l/_zZqH6ZcgLJPQ
https://dl.doubtnut.com/l/_CB9joyM6xGo2
https://dl.doubtnut.com/l/_Oz6nblMZyX5Z

° Watch Video Solution

148./ g dz
4sin”“z + 9cos2 x

o Watch Video Solution

149. / da )
(asinz + bcos )

o Watch Video Solution

sin® z
150. /—dm
a+ bcos?z

° Watch Video Solution

151, / da
(2 +sinz)(1 — sinz)

° Watch Video Solution



https://dl.doubtnut.com/l/_Oz6nblMZyX5Z
https://dl.doubtnut.com/l/_5nf2iWuL3MtA
https://dl.doubtnut.com/l/_UKRxMHvPxoPX
https://dl.doubtnut.com/l/_uSP1md6mdcD1
https://dl.doubtnut.com/l/_h7CSDaBiuqG7

152, / da
(2 + cosz)(3 — cosx)

o Watch Video Solution

3
153./396 rrrrlig,
(1+ z2)>

° Watch Video Solution

154. /3‘”(tana: — logcos z)dx

° Watch Video Solution

dx

/ex [1 +4/1— 22sin ! m]
155.
Vv1—2z2

o Watch Video Solution



https://dl.doubtnut.com/l/_GAEAT5GuuO9s
https://dl.doubtnut.com/l/_L9iAxiRgcxvE
https://dl.doubtnut.com/l/_Ur8iTPs9NUv9
https://dl.doubtnut.com/l/_52IGQU9HRsUI

2
1
156./3””. w—+2da:
(z + 1)

° Watch Video Solution

2 —sin2z
157. |e® ——X—
57/6 1—cos2a:dw

° Watch Video Solution

158./6_% vi—sinz

1+ coszx

° Watch Video Solution

e?(1 — sinx)
159./—d.’r

1——coszx

° Watch Video Solution



https://dl.doubtnut.com/l/_z6KrSxucQxwZ
https://dl.doubtnut.com/l/_jaAM9H34hnMC
https://dl.doubtnut.com/l/_E9nbYy1Kh433
https://dl.doubtnut.com/l/_akj8AT8FJV23

1—:1:
150/
1+x2

o Watch Video Solution

161./E (m ? )dx

(1+22)°

o Watch Video Solution

162./3“’““1””(14— ‘” )da:
1+ 22

o Watch Video Solution

ecot x
163./. >—[21ncos ecz + sin2z|dx
sin”

o Watch Video Solution



https://dl.doubtnut.com/l/_mjaCQhwdOx6P
https://dl.doubtnut.com/l/_R5V1rdL4ZEgQ
https://dl.doubtnut.com/l/_1mp4H7ykjV9r
https://dl.doubtnut.com/l/_VQEO2cv9YETw

sec2z — 1
164. dzx
sec2x + 1 +1

o Watch Video Solution

165. /e‘lw sin 3zdzx

o Watch Video Solution

166. /elogem cos zdzx

o Watch Video Solution

167./sin_1 2 4z
a+t+x

o Watch Video Solution

168. /cos 2z logsin xzdx


https://dl.doubtnut.com/l/_SebtYMb6q9dD
https://dl.doubtnut.com/l/_NzSEo7Fp8rqh
https://dl.doubtnut.com/l/_Dv64asYNVk8T
https://dl.doubtnut.com/l/_8IwGzvApAZhm
https://dl.doubtnut.com/l/_edeWsL13Qo29

o Watch Video Solution

in(1
169. fde
133

o Watch Video Solution

170. /:os (b log(%))dx

o Watch Video Solution

171. /smsinlwdx

o Watch Video Solution

emtanflrc
172./—2d:v
(14 2?)

o Watch Video Solution



https://dl.doubtnut.com/l/_edeWsL13Qo29
https://dl.doubtnut.com/l/_7kjs7PAT2IqO
https://dl.doubtnut.com/l/_Jmi2gCQLcxuw
https://dl.doubtnut.com/l/_DJ6PG730r1QD
https://dl.doubtnut.com/l/_qzqsujn8koeQ

1
173. /cos -1 <—) dz
x

° Watch Video Solution

1
174, /’Md
(2z + 1)

o Watch Video Solution

log(1 + z2
/Mdm

3

° Watch Video Solution

176. ﬁog(l — m2)dw

° Watch Video Solution



https://dl.doubtnut.com/l/_AiapH5tfPvEP
https://dl.doubtnut.com/l/_ZqWLe79lZO6l
https://dl.doubtnut.com/l/_zVe1bmXNe0Vo
https://dl.doubtnut.com/l/_pL1EG9kf66zL

177. ﬁog(m +va? + wz)da:

o Watch Video Solution

1
178/ ogzx
:I:+1

o Watch Video Solution

log(1 +
7. /de

2

o Watch Video Solution

180. /(elogw + sin a:) cos zdzx

o Watch Video Solution



https://dl.doubtnut.com/l/_IsLvZ5eFswkb
https://dl.doubtnut.com/l/_dZk2JPL4qtPD
https://dl.doubtnut.com/l/_PM0k8m66Sz2a
https://dl.doubtnut.com/l/_AiEf8E4CCNA2

2 2

2

o Watch Video Solution

182. %ﬁewzdw

o Watch Video Solution

rsin 'z

V1— z?

183. dx

o Watch Video Solution

184, [—2
1+ sinz

o Watch Video Solution

185. %:os 201og(1 + tan@)dz


https://dl.doubtnut.com/l/_PCWraS85hfzI
https://dl.doubtnut.com/l/_KK3n0tSHqCJS
https://dl.doubtnut.com/l/_5siW3iyvLi0X
https://dl.doubtnut.com/l/_VoatYMD4TAdY
https://dl.doubtnut.com/l/_YKxh81COjyIa

o Watch Video Solution

L1
me’l’l’LSll’l x

—1 — dzx

186.

o Watch Video Solution

1 —
187./0&11_1 1/ z dzx
1+

o Watch Video Solution

T — sinx
188. /—dm
1—coszx

o Watch Video Solution

189. ﬁsin(logm) + cos(logz)|dx

o Watch Video Solution



https://dl.doubtnut.com/l/_YKxh81COjyIa
https://dl.doubtnut.com/l/_RdqUuscHS7bb
https://dl.doubtnut.com/l/_X5sb50Ruzs6c
https://dl.doubtnut.com/l/_r9HNkFX6ltNM
https://dl.doubtnut.com/l/_eYJYgTczYUIk

190. ﬁ?’ sin(alogz)dx

o Watch Video Solution

191. /(sin_ 1 x) 2dac

o Watch Video Solution

-1
192./“a‘n—fdm
(1+ 22)2

° Watch Video Solution

193./2_”ta,n_1(e”’)d33

o Watch Video Solution



https://dl.doubtnut.com/l/_RlGrXFy3ORbv
https://dl.doubtnut.com/l/_w67MDhViJZh3
https://dl.doubtnut.com/l/_HgZ59sP8jlC2
https://dl.doubtnut.com/l/_JHlYD3dnltFo

sin~
194, [———

(1— z2) 5

o Watch Video Solution

1 -1
o5, [lo8(see M)

xvzx? —1

° Watch Video Solution

196. /( CO;CB — sinxlogw)dm

° Watch Video Solution

log cos x
197. [—dz
cos? x

o Watch Video Solution



https://dl.doubtnut.com/l/_PbMxHiFSWrCr
https://dl.doubtnut.com/l/_3uEMtwzy3YLC
https://dl.doubtnut.com/l/_2OKJm30XVHhu
https://dl.doubtnut.com/l/_AbBWldiK9g97

198. /sin3 Jzdz

o Watch Video Solution

dx

/Jog(x + 41+ .’132>
199.
V14 22

° Watch Video Solution

2
T
200. / ~dz
(z cosz — sinx)

o Watch Video Solution

2

T*cosx
201./—2da:
(1+ sinz)

o Watch Video Solution



https://dl.doubtnut.com/l/_HcnAv8cAI8ed
https://dl.doubtnut.com/l/_K3VOQhc9sqfY
https://dl.doubtnut.com/l/_V9JZDMro9fVn
https://dl.doubtnut.com/l/_iTF7Jee3ydtG

t
202./ sec?zcos lz — ey dr
V1—z?

o Watch Video Solution

1
203. fclog (1 + ;)da:

° Watch Video Solution

204. [sinx logtan zdzx

° Watch Video Solution

205. /e_x log(e® + 1)dx

° Watch Video Solution



https://dl.doubtnut.com/l/_9atLiOzqWarC
https://dl.doubtnut.com/l/_O1biP1jwEFu7
https://dl.doubtnut.com/l/_GM9b8mxwcgFi
https://dl.doubtnut.com/l/_YBUDq1x5qnId

1—cosz
206./ dx
cos z(1 + cosx)

o Watch Video Solution

14
207. / ST g,
sinz(1 + cosx)

o Watch Video Solution

dzx
208. /—2
(e — 1)

o Watch Video Solution

209./ da
sinz(3 + 2cos x)

° Watch Video Solution

sinx
210. / dx

sin4x


https://dl.doubtnut.com/l/_iKUoQzQALKgM
https://dl.doubtnut.com/l/_GggoNQYgJY7B
https://dl.doubtnut.com/l/_2kkctJ2Ve4Em
https://dl.doubtnut.com/l/_9s3PsgHCqEBv
https://dl.doubtnut.com/l/_M7knqW7chEtX

° Watch Video Solution

z—1)(xz —2)(z —3)
2. /E:v NEiErd)

o Watch Video Solution

212, / dz
(z 4+ 1)(22 + 2z + 2)

o Watch Video Solution

dx
213.
/(w +1)*(a? + 1)

o Watch Video Solution

~1
214. /ta'n—idm
(1+ x)

° Watch Video Solution



https://dl.doubtnut.com/l/_M7knqW7chEtX
https://dl.doubtnut.com/l/_DgRXdMWQZgCc
https://dl.doubtnut.com/l/_UKXwLmlb7wFd
https://dl.doubtnut.com/l/_faKPRyrjAOHg
https://dl.doubtnut.com/l/_J8B5m9oJsiWy

1 1—=x
215./—1/ dx
T 1+=x

° Watch Video Solution

x3 — 1
216. Evaluate: 3 dx
>+

° Watch Video Solution

log(1l + =

2

° Watch Video Solution

z2 +x+3
218'/@ —2)(z + 1)

° Watch Video Solution



https://dl.doubtnut.com/l/_J8B5m9oJsiWy
https://dl.doubtnut.com/l/_O7Y58nXRtv5W
https://dl.doubtnut.com/l/_qgwXZiQ6DUqY
https://dl.doubtnut.com/l/_NezDJbR3yHHc
https://dl.doubtnut.com/l/_XBjNzx7VsRvm

219./ =2 dz
(14 sinz)”(2 + sinz)

o Watch Video Solution

sin 2x
220./ dz
cos?2x + 3cosx + 2

o Watch Video Solution

/ dzx
221.
x3 —1

° Watch Video Solution

222. /d—""'2
(22 +1)

o Watch Video Solution



https://dl.doubtnut.com/l/_kVlJDgan7dA9
https://dl.doubtnut.com/l/_Wt47skiouuaY
https://dl.doubtnut.com/l/_qr12cRbhH8z4
https://dl.doubtnut.com/l/_Y9qLDl1dwOch

223. /d—x4
(z2 +1)

° Watch Video Solution

224,/d—33
zi/x — 1

o Watch Video Solution

225. / dz
(z +2)vz +3

o Watch Video Solution

226. / dz
@+ Dva? —1

o Watch Video Solution



https://dl.doubtnut.com/l/_CFVDAbvxcgFx
https://dl.doubtnut.com/l/_5rEvtcMMYsn7
https://dl.doubtnut.com/l/_alJ0Qdvhvkk6
https://dl.doubtnut.com/l/_3tof5tzcmI9E

227./ da
(14+2)vV322+3z+1

o Watch Video Solution

228. /d—m
222 — 1

° Watch Video Solution

220. / dz
(22 — 1)vz2 + 1

o Watch Video Solution

230. /333(1 + m2)§da:

o Watch Video Solution



https://dl.doubtnut.com/l/_VA2hNnZhIj1m
https://dl.doubtnut.com/l/_g8N7RsTkitl5
https://dl.doubtnut.com/l/_f1Yo0VpAS130
https://dl.doubtnut.com/l/_LPNNdqtWC1WX

d
231. If I, = /(—xn’ n € N, then show that:

.’132 + (1,2)
1 T 2n —1 1
In—l—l = B n o An
2na® (z? + a?) 2n a

o Watch Video Solution

232. If I, = / (a2 + mZ)ndm, Prove that:

x\/mn na’ /(a2 + x2)ﬂ

~1
I = 2 d
" n+1 +n+1 T

o Watch Video Solution

233.The formula in which a certain integral involving some parameters in
connected with some integrals of lower order is called a reduction
formula. In most of the cases the reduction formula is obtained by the
process of integrating by parts. Of course, in some cases the methods of
differentiation are adopted. Now answer the question: If

L, 5 ni0= /sinm_2mcos"+2mda: and


https://dl.doubtnut.com/l/_UYtAQCs0YMGg
https://dl.doubtnut.com/l/_Rzh5t2ooUshm
https://dl.doubtnut.com/l/_iJ9wkwfsYVGv

sin™ 'z cos"tlx

Ijpn = — ] + f(m, n)I:Hz,then f(2,3) is equal to

A Bl 1
(W) 5 (B) 5 (Q 7 ()E

° Watch Video Solution

(1+logz
234. The value of / 82) is (A) sec '(z®) +c¢ (B)

\/mm _

tan~(z") + ¢ (C) log(m + (ar:’”)2 - 1) + ¢ (D) none of these

° Watch Video Solution

235. The value of the integral /Ldm is equal to (A)
1+ ztanz
log|x cos  + sinz| + ¢ (B) log|cos z + x| (C) log|cos  + x sinz| + ¢ (D)

none of these

° Watch Video Solution



https://dl.doubtnut.com/l/_iJ9wkwfsYVGv
https://dl.doubtnut.com/l/_i3Blgd7Q3BES
https://dl.doubtnut.com/l/_DAauz2q7WxpA

e510g:1: _ e4logac

236. The value of the integral /e3logx _ e2logz

dx is equal to (A) 22+ ¢

z° z?
(B) 3 + ¢ (Q) o5 + ¢ (D) none of these

o Watch Video Solution

237.1f [ 5T + cos 4z dx=A( — sin2z) + Bsinz + cthen A 4+ B=
1—2cos3zx

o Watch Video Solution

238. The value of / f2)¢ (@) + #(2)f (2) dx is (A)
(f(z) - ¢(z) +1)y/é(z) - f(z) — 1
— an [ f(z sin~! @ none
sT1y/#(@) — 6(2)* @) tan " [f(2)$(2)] () o ©
of these

° Watch Video Solution

239. /can:r - tan 2z - tan 3zdx is equal to (A)

logsin 3z + logsin 2z + logsinx + ¢ (B) log(sec 3z sec2z secx) + ¢ (C)


https://dl.doubtnut.com/l/_KibOAJJJLiaE
https://dl.doubtnut.com/l/_SZk2zz8j6a4G
https://dl.doubtnut.com/l/_Ky1WKWcAa0kS
https://dl.doubtnut.com/l/_wzt8kXF3T6dm

510g|sec3x| - 510g|sec2:c| — log|secz| + ¢ (D) none of these

° Watch Video Solution

240. The value of /\/Wd:c is equal to (A)
2sin_1(\/§sin(%))+c (8) 2cos_1(\/§sin(%))—|—c (©)

2sin~! (ﬁcos(%)) + ¢ (D) none of these

° Watch Video Solution

(:c3 +x+ 1)
241. The value of /ew - dx is equal to (A) :L'e‘”(l + :132)
(14 =?)>
1

(B) ze” (1 + a:2)% +c(Qze” (14 2%) () + ¢ (D) none of these

N o

+c

° Watch Video Solution

dz is equal to

.1 1
in T — CoS T
242. The value of /s \/_ \/_

sin~!'y/z + cos ! y/z

° Watch Video Solution



https://dl.doubtnut.com/l/_wzt8kXF3T6dm
https://dl.doubtnut.com/l/_KbY4lJZsjLuq
https://dl.doubtnut.com/l/_L96Ie7ILZ8Ua
https://dl.doubtnut.com/l/_dhKER8wlEw1l

2 _
243. If / - : ° 2_1 — dz = log|f(2)| + ¢, then (A)

f(z) =tan" 'z, where z=,z+2 (B) f(2)=tan 'z where

2 . 1 T
z=1x+ . (C) f(z) = sin™ "~ z, where z = (D) none of these

° Watch Video Solution

1
244, If :clog(l + ;)dm = f(z)log(z + 1) + g(z)z* + Az + C,

1
then f(z) = sz (b) g(x) = logx A = 1(d) none of these

° Watch Video Solution

1
245. / dz is equal to (A) tan_l(ta,nac —cotx) + ¢ (B)
cos®x + sin’ x
sin ! (sin2z) + ¢ (Q) tan~'(tanz 4 cot z) + ¢ (D)

cot “!(tanz + cotz) + ¢

o Watch Video Solution



https://dl.doubtnut.com/l/_dhKER8wlEw1l
https://dl.doubtnut.com/l/_M7R2t65yPgx3
https://dl.doubtnut.com/l/_M4ffKsJT5tL4
https://dl.doubtnut.com/l/_unggjc6IpF2u
https://dl.doubtnut.com/l/_QitFXg7o2UHH

sin bx .
246. /—da: is equal to (A) log|secTz|+c (B)
cos Tz cos 2x

log|sec 7z sec 2z| + ¢ (C) log|sec Tz + sec2z| + ¢ (D) none of these

o Watch Video Solution

x cosxlogx — sinx . . .
247. 5 dx is equal to (A) sinz + ¢ (B) logxsinz + ¢
z(logx)

(C) logz + sinz + ¢ (D) none of these

o Watch Video Solution

D) | ogg(a) — log fla)hde = (A

log(%) +c(8) log(f(m) ) 4 (0 %log(%)z + ¢ (D) none of

these

° Watch Video Solution



https://dl.doubtnut.com/l/_QitFXg7o2UHH
https://dl.doubtnut.com/l/_suUsffQM0b8z
https://dl.doubtnut.com/l/_sF6Aha3mdP0T

d 2 2\/x
249. / T w2 w2 e
Va(l+22)? (1+ %)t (1+22)°
0 /=
1;/032 + ¢ (D) none of these
x

° Watch Video Solution

ST

+ (B)4 r—1
CEW VT r2 T

zso./ N g(gﬁ_;)
(r — 1)i(x+2)4 T+

4 2
(C) = i + ¢ (D) none of these
3\z—1

o Watch Video Solution

2
z T secx
251. de — _ "

/(a:sinx+cosx)2 v rsinz + cos + f(x) + ¢, then f(z)

may be (A) sinz (B) z sinx (C) tanx (D) cot

° Watch Video Solution



https://dl.doubtnut.com/l/_J3UJp1fzUT6a
https://dl.doubtnut.com/l/_D2oUiLsS83dU
https://dl.doubtnut.com/l/_pnClV16FEtb6

(1
252. /M dz = 2(log), cos(ze®) + C (b) sec(ze”) +C (c)

cos?(ze®)

tan(ze®) + C (d) tan(z + €”) + C

o Watch Video Solution

253 /(lde: A — e @ z

——— tc
1+ logz)? 1+ logz 1+ logz

loglog(1 + logx) + ¢ (D) none of these

° Watch Video Solution

equals(A) 10° — 2" 4+ C

10z° + 10z%(log) ,,dz
254, / ¢
z10 + 10°
10° + 2'° + C(C) (10° — 2'%) ' + C (D) log(10% + 2'°) + C

(B)

o Watch Video Solution



https://dl.doubtnut.com/l/_Plo92h0ou5cP
https://dl.doubtnut.com/l/_5xxY1O1qS42x
https://dl.doubtnut.com/l/_NNcz6FWibBYM

255 dx B A) 1 1 1+ 210 (8)
' /a:(1+:n1°) - T ST B

L, ( Ca ) +¢(0) 1 + ¢ (D) fth
—10 C _— C none o ese

° Watch Video Solution

256. If

/ (z + 2)dx _ 2 [ta,n_l(f(w)—i_l) +tan_1<f(m)—]
(22 +3z +3)\/(z+1) 3 V3 V3

then f(x) is equal to

o Watch Video Solution

cos T + sinzx
\/sin 2x

sin~!(sinz — cos z) (C) cos " '(cos  + sinz) (D) none of these

257. dr = (A) sinfl(cos z + sinz) (B)

° Watch Video Solution



https://dl.doubtnut.com/l/_4GWooYJh9g66
https://dl.doubtnut.com/l/_5hwA3LCBAunZ
https://dl.doubtnut.com/l/_P6bSqznsFvPr

258 /xHinxd — (A zt ($)+ (8) log(1 ) +e ()
. m r = I tan 5 C og COS T C

5 + ¢ (D) none of these

° Watch Video Solution

dz + 1 1 1
250, If [—SB2 1 i kcosdz + ¢ then k= (A) — — (B) — — (C)
cotx — tanzx 4 2

1
-3 (D) none of these

° Watch Video Solution

. 1+ nz" 1 — g2

(1—2z")v/1 -z

dzx

260. Evaluate: /e

° Watch Video Solution

3 5
261. /COS T COS4 Tdx = (A) sinz — Gtan_l(sinx) +e¢ (B)
sin?z + sin*z

sinz — 2(sinz) ' — 6tan"(sinz) + ¢ (C)

sin 'z — 2(sinz) " + 5tan"'(sinz) + ¢ (D) none of these


https://dl.doubtnut.com/l/_xbZ2zzdfBXw0
https://dl.doubtnut.com/l/_tRAnKMbis4yV
https://dl.doubtnut.com/l/_1ODeUm9XDKgz
https://dl.doubtnut.com/l/_C1ZiL2TXAJu4

° Watch Video Solution

262, [ de — logl1 — (&) + (@) + crthen f(z) =
z(1 + ze?)

° Watch Video Solution

1
263. If :Blog(l + ;)dw = f(z)log(z + 1) + g(z)z* + Az + C,

1
then f(z) = Eazz (b) g(z) = logx A = 1(d) none of these

o Watch Video Solution

yeot x
264.1f /Slna:cosmdx = ay/cot z + b, then a = 0 (A) 1 (B) 2 (C) —1(D)

o Watch Video Solution



https://dl.doubtnut.com/l/_C1ZiL2TXAJu4
https://dl.doubtnut.com/l/_bZHrIceEtIEg
https://dl.doubtnut.com/l/_INewOlhRpXpH
https://dl.doubtnut.com/l/_St6mSqlNrcJ9

265. I /f(a:) - coszdx = %{f(a:)}2 + ¢, then f(0) = (A)1(B)0(C) —1

(D) none of these

° Watch Video Solution

1 1 x logz
266. — 5 dx = (A) —— (B) xlogx (C) —— (D) none
logz  (logx) logz T

of these

° Watch Video Solution

267. w—e”’dw = (A) (B) ’ > (C) € log(1 + x) (D) none

(1+z)? L+z (1+ z)

of these

o Watch Video Solution

268. If /Slid:v = Az + Blogsin(z — a) + C, then value of
sin(z — «)

(A, B) is (A) ( — sina, cosa) (B) ( — cos e, sina) (C) (sinc, cos a) (D)


https://dl.doubtnut.com/l/_GVtwaFzkmu7m
https://dl.doubtnut.com/l/_uCB3M3aJKLsf
https://dl.doubtnut.com/l/_3WqTUXVQgKUi
https://dl.doubtnut.com/l/_41bfKGC3ZK7S

(cos a, sin )

° Watch Video Solution

d
269. /—x is equal to
cosx — sinzx

A %log tan(% — 3%)‘ +C

B. %log cot(%)‘ +C

C. %log tan(% — %)} +C

D. %log ta.n(% + 3%)‘ +C
Answer: D

o Watch Video Solution

2
270. If /I:logw——ll dr = L + ¢, then (A) f(z) = = (B)
1+ (logz)? 1+ (g(z))?

f(z) = 2*(C) g(z) = logz (D) g(z) = (logz)

° Watch Video Solution



https://dl.doubtnut.com/l/_41bfKGC3ZK7S
https://dl.doubtnut.com/l/_R9ozu8KW7Vcd
https://dl.doubtnut.com/l/_hheG84eM2jf9

1
271. / dxr equals (i) log(tan + +c (i)
cos T + 4/3sinz a ( (2 12))

log(tan(% — %)) +c (i) log(ta,n( 12)) c  (iv)
3 log(ten(5 — 3)) e

° Watch Video Solution

T

272. The value of \/‘/ﬂ is: (1)  + log *

sin(e )

sin(az — %)‘ +ec (3) x + log

T
cos(w — Z)’ +c

)’+C(2)

COS (:1: —

x — log

sin(m — %)‘ +c (4)

x — log

° Watch Video Solution

rt + 1 1 2 1
273. If/ i dr = tan™~ f(z) — gtan_ g(xz) + C,then  both
T

f(z)andg(z) are odd functions f(z) is monotonic function f(z) = g(x)

T 1 3
()da:: - —+—+4c
T 3

has no real roots /f
9(x)

| ° Watch Video Solution


https://dl.doubtnut.com/l/_hheG84eM2jf9
https://dl.doubtnut.com/l/_ap7iNPB7mXGA
https://dl.doubtnut.com/l/_hZOeBi0P6Bxa
https://dl.doubtnut.com/l/_K8KAIATARnPf

+1
274. /:1:—2 dx equals
z(1+ z e®)

1
A ———
1+ ze® +C

ze®
B.1 T
Og(l—l—xe"”) +C

1 x
C——|—10g< re )—I—C

"1+ ze® 1+ xze®

D.z(e®* + 1)+ C

Answer: C

° Watch Video Solution

og.(z + 1) — log,
275. /I B ( ) g mdw is equal to (A)
z(z + 1)
1 1 2
) |:log(x +1)% — Elogml + log,(x + 1)log, x + C (B)

2
- [(loge(a: +1) —log, 2> (C) ¢ — %(Iog(l + l)) (D) none of these
T

o Watch Video Solution



https://dl.doubtnut.com/l/_K8KAIATARnPf
https://dl.doubtnut.com/l/_Ij2nGrxgttpL
https://dl.doubtnut.com/l/_7qnrSsFooV34

ze®

276.If/—d:1: = f(x)y/1+ e® — 2logg(x) + ¢, then
Tt = SV (@)

el’

o Watch Video Solution

277. /;le—'_—zeda: = Ax + Blog(ge% — 4) + C, then A= ,
e.’I: _ e—.’l?

° Watch Video Solution

2
278. If /{logw——ll gz = —1 o then () flz) =z (8)
1+ (logz)? 1+ (g(z))”

f(z) = 2*(0) g(z) = logz (D) g(z) = (logz)

° Watch Video Solution

dx 1
279. Statement-1: / = —— + C , Statement-2:
T

(1+ logz)? 1+ logz

n+1
/(f(m))"f’(w)da: = % + C,n+ 1 # 0 (A) Statement-1 is True,



https://dl.doubtnut.com/l/_wFP6YdsJNMuQ
https://dl.doubtnut.com/l/_tk1dTfEMtBvU
https://dl.doubtnut.com/l/_NnZMR18TyEpI
https://dl.doubtnut.com/l/_7pNfA47gHOUS

Statement-2 is True, Statement-2 is a correct explanation for Statement-1.
(B) Statement-1 is True, Statement-2 is True, Statement-2 is NOT a correct
explanation for Statement-1. (C) Statement-1 is True, Statement-2 is False.

(D) Statement-1 is False, Statement-2 is True.

o Watch Video Solution

280. Statement-1:
3—-2 -1
/ v dr = 2+/4 + 22 — % + sin~ ! r—- +C
Va4 + 2 — 22 NG

dx T a? T
Statement-2: = (a2 - ;1;2) + —gin~ ! <_> (A)

‘/a2_$2:2 2 a

Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1. (B) Statement-1 is True, Statement-2 is True,
Statement-2 is NOT a correct explanation for Statement-1. (C) Statement-1

is True, Statement-2 is False. (D) Statement-1 is False, Statement-2 is True.

o Watch Video Solution



https://dl.doubtnut.com/l/_7pNfA47gHOUS
https://dl.doubtnut.com/l/_HVAYxAoI9ouA

281. Statement-1: The function F(z) = /sin2 xzdxr  satisfies
F(z 4+ m) = F(z), VénR  Statement-2: sin’(z + 7) =sin’z  (A)
Statement-1 is True, Statement-2 is True, Statement-2 is a correct
explanation for Statement-1. (B) Statement-1 is True, Statement-2 is True,
Statement-2 is NOT a correct explanation for Statement-1. (C) Statement-1

is True, Statement-2 is False. (D) Statement-1 is False, Statement-2 is True.

o Watch Video Solution

282. Consider the function F(z) :/ ? dxStatement-1:

(z —1)(z2+1)

F(z) is discontinuous at & = 1 ,Statement-2: Integrand of F(z) is

discontinuous at £ = 1 (A) Statement-1 is True, Statement-2 is True,
Statement-2 is a correct explanation for Statement-1. (B) Statement-1 is
True, Statement-2 is True, Statement-2 is NOT a correct explanation for
Statement-1. (C) Statement-1 is True, Statement-2 is False. (D) Statement-1

is False, Statement-2 is True.

o Watch Video Solution



https://dl.doubtnut.com/l/_uw3ri977zN8e
https://dl.doubtnut.com/l/_Aa0KYxDIMSsD

283. Llet a solution y=y(x) of the differential equation
2
z/2® — 1dy — yr/y® — 1dz =0 satisfy  y(2) = EStatement-h

s
y(z) = sec(sec Lo — —)Statement -2: y(z) is given by

N

= \/1 — — (A) Statement-1 is True, Statement-2 is True,
Y

Statement-2 is a correct explanation for Statement-1. (B) Statement-1 is
True, Statement-2 is True, Statement-2 is NOT a correct explanation for
Statement-1. (C) Statement-1 is True, Statement-2 is False. (D) Statement-1

is False, Statement-2 is True.

° Watch Video Solution

? +1) 24 )
284. Statement-1: / 5 e <2 dr =e 2 + (C Statement-2:
T

/f(a:)ef(m) dxz = f(z) + C (A) Statement-1 is True, Statement-2 is True,
Statement-2 is a correct explanation for Statement-1. (B) Statement-1 is
True, Statement-2 is True, Statement-2 is NOT a correct explanation for
Statement-1. (C) Statement-1 is True, Statement-2 is False. (D) Statement-1

is False, Statement-2 is True.

| o Wiak~h \tAAaA CAlLiikiAan



https://dl.doubtnut.com/l/_k34vropSxOMa
https://dl.doubtnut.com/l/_aOupzUypvbIe

$ AAA-LASIEER ALSAYAr*iVAL A LYAN] J

T
285. Statement-1: /sin_1 zdr + /sin_1 V1= rldr = Ex +c

Statement-2: sin " ! + cos -1

e
T = 3 (A) Statement-1 is True, Statement-
2 is True, Statement-2 is a correct explanation for Statement-1. (B)
Statement-1 is True, Statement-2 is True, Statement-2 is NOT a correct

explanation for Statement-1. (C) Statement-1 is True, Statement-2 is False.

(D) Statement-1 is False, Statement-2 is True.

o Watch Video Solution

286. Statement-1: /(sin z)*(z cot x + logsinz)dz = z(sinz)”
0 G e g(z) 4 1o
Statement-2: - (f(2)) = (f(z)) [9(z)log f(z)]  (A)
T dx
Statement-1 is True, Statement-2 is True, Statement-2 is a correct
explanation for Statement-1. (B) Statement-1 is True, Statement-2 is True,
Statement-2 is NOT a correct explanation for Statement-1. (C) Statement-1

is True, Statement-2 is False. (D) Statement-1 is False, Statement-2 is True.

o Watch Video Solution



https://dl.doubtnut.com/l/_aOupzUypvbIe
https://dl.doubtnut.com/l/_XEhizB2rfH87
https://dl.doubtnut.com/l/_ljebxg5DNHzd

287. The formula in which a certain integral involving some parameters in
connected with some integrals of lower order is called a reduction
formula. In most of the cases the reduction formula is obtained by the
process of integrating by parts. Of course, in some cases the methods of

differentiation are  adopted.Now  answer the  question:If

L, 5 ni0= /sinm_chos"+2md:c and
com—1 n+1
Ipn= — S T ? + f(m,n)In_2, then f(2,3) is equal to
n+1 n+2
(A) = (B) . Q) - (D) =
2 3 4 5

o Watch Video Solution

288. Let n be a positive integer such that I, = %v"\/(f — z%dzNow

N =

2
answer the following question:The value of I; is (A) g(a2 — x2) (B)
1 3 2 3 1 3
g(a2 — :1:2) 2 (Q) —g(a2 — 332)2 (D) —g(a2 — :1:2)2

o Watch Video Solution



https://dl.doubtnut.com/l/_soksDaJAqVBI
https://dl.doubtnut.com/l/_Sl6lk1HMkfrv

289. Let n be a positive integer such that I, = ﬁz:”\/a2 — z?dz Now

2 1
answer the following question: The value of I; is (A) §(a2 — m2) 2 (B)

Ly

ns o 209 a3 1o,
z(@* —2°)7 (@O -z (a® —2°)* (O) — 5 (" —2%)

e

o Watch Video Solution

290. Integral of the form ﬁxf(m) + f(z)]dx can be evaluated by using

integration by parts in first integral and leaving second integral as it

. . T + sinx tanzx
is.Now answer the question: [——dz = (A) =

+ B
1+ coszx ¢ (B)

r tanzx T
55 + ¢ (C) itanx 4+ ¢ (D) none of these

o Watch Video Solution

291. Integral of the form /[:cf(a:) + f(z)]dx can be evaluated by using
integration by parts in first integral and leaving second integral as it
issNow answer the question:/[m”“"“(logx +1) +2%|dz = (A

22 4+ ¢(B) z® ! 4 ¢ (C) z* + x + ¢ (D) none of these

I o Watch Video Solution l


https://dl.doubtnut.com/l/_7lRdmdhlGobO
https://dl.doubtnut.com/l/_EsyHx47bgOto
https://dl.doubtnut.com/l/_SMkc22Fh2wun

292. Integral of the form ﬁa:f(m) + f(z)]dz can be evaluated by using

integration by parts in first integral and leaving second integral as it

1 4z
i+ 1 (gt 41)°

is.Now answer the question:/{ ]dx: (A)

2 3

c (B) +¢(Q)

+ + ¢ (D) none of these
xt + 1 zt 41 xt +1 (B)

° Watch Video Solution

%
293. Let f: RR be a continuous function and f(z) = f(2z) is true

1
Ve € RIf f(1) = 3, then the value of/ f(f(z))dz is equal to 6 (b) O
-1

() 3£(3) (d) 2£(0)

° Watch Video Solution

294.1f f(z) = / szl 1

ot ot 1)2da: and f(0) = 0,then f( — 1) = ..
zt +

° Watch Video Solution



https://dl.doubtnut.com/l/_SMkc22Fh2wun
https://dl.doubtnut.com/l/_tPAd8wDwBY7A
https://dl.doubtnut.com/l/_eILhOo60HNIJ
https://dl.doubtnut.com/l/_uaySZo3YuXE7

295. If neN

and

n+1

(2:c7” + Tx? 4+ 14:1:") T

1
n 2n n 6n n n _
/($ + +a:)(2:1; + Tz +14) dr = k(n+ 1)

, then, k is equal to...

° Watch Video Solution

4133 + a4$ 4
296.I1f | ——dx = log(z* + 4%) + c,then e® = ..
/ 4% 4 x4 g( )

° Watch Video Solution

207, If 2= (¢ +1)5

/ 2 doya( -+ 4+ 2+ 2 4 2 4 2
(1425 —yi¥e 4 5 6 7 8 9

then |a| = ..

° Watch Video Solution

+


https://dl.doubtnut.com/l/_uaySZo3YuXE7
https://dl.doubtnut.com/l/_VvcNXEIqXfYv
https://dl.doubtnut.com/l/_Rdg6gq6abxUD
https://dl.doubtnut.com/l/_JoopuiXb1iIv

